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DEGREE EXAMINATION, JUNE - 2012 5 16 What do you mean by M 2400 Degresson
iCCSSi ; What do you mean by Combarnat.on”
BC4 CO4 - QUANTITATIVE TECHNIQUES !; ’5’ Hate the add Lon theorem of Protas 7y
FOR BUSINESS | J9 What s a dcrete randorm vanabie?
i
Time 3 hrs Maximum: 30 marks | /20 What are the parameters of & Dinomia €5ttt ?
21 What s a Non-parametr.c test?
art A i ¥ )
Part | (%21 %% wentays

This part contans three bunches of queston:
carrying equal waightage £ach bunch has
four questons Answeor all twelve queshions

(A, Fill in the blanks :

j 1. Two vanables are sa«d to be d the change n
one vanabie results a Correspond ng change i the other

vanable

I8 termed as
. Choose the correct answer from the bracket :

B
C& The vaiues of probab: ity ke between

al Qand-a bi Cand!
¢) Greaterthan 1 d) None of these

-ﬁ Poisson distribution is the imiting form of

a) Normal distnbution bl Frequency distnbution
c) Binomial distnbution d) Che-square distnbution

j?. The % area under Normal curve covered by Mean 1
Standard deviation is
a) 34.185 b} 8545
c) 6827 & 47725
8 Standard deviation of a sampiing distribution is called
a) Sigma b) Mean
¢) Standard Error dy Vanance

C. Answer in oneword :

9 if two variables are moving and varying in the same
direction; Correlation 18 said (o be

J10 Normal distribution is graphically represented by :

i Thesetdalthesatnpiepomtsofarandornexpermenm
N called as |

12. Reyection of a null hypothesis when 1t is true s referred to

oy
(12 x ¥ = 3 weightage)
PartB
Answer all nine questions in one or two sentences each.
Each question cames a weightage of 1

13.What do you mean by Quantitative Techniques?

anatysis heips to understand how the value of |
the dependent vanable changes when any one of the
. ndependent vanatle 1s vanate i
J\3/ The nutcome of a random expenment 8 called ,,
ﬁ A normat curve with zem mean and und standard devaton |

Part C
A5 o ‘l“,’ ﬁ" R A
Fach G SIaa CETHE 8 #i""if""f _ﬁ,‘ ’iz
,5 fﬁ dWhat are the R e of O arttative PO —
s BUsTess ¥ Ak
23 The rankung of 10 ndmduals  the start and frvsr of 3
?Yyi:"'iq PrOgrarnme e as tolic

indroduate A B C D E F G W 1 J
Rankbefore 4 & 10 7 2 % 3 & *
Hapk sfier 1 4 9% 8§ 20 7 2 3 8 6

{ Calcudate Spearman's Hark Correigtion Coefert

24 For 17 absenations on pree (X and Quartty Suppied (7
the loliowing data were obtared LX = S44 T = 1GH0AT
LY =244 LY = 3773 LAY = B41] Otdar the eguators
of the Two regression o ines

25 A Commutiee of 5 15 10 be formed from a group of & boys

. and 7 giris Find the protabdty thar the Corymtiee consists
of (a) 3boys and 2 gris (D) 2t leas! one gt

26, The probabity that 3 batsman scores 3 century @ 3

T Cncket match 18 173 Find the probabity that out of £
matches hemymm.:yma;emryzm
(b) No match
Betweenthe hours of 2 pm and 4 pm  the average
number of telephone Calts per menute COMNG Mo e Swach
board of a Company 152 § Fing the probabiety ™hat dunng
one particuiar minute there will be (a3, Exactly 2 calis.
{b) No phone cafls at all

28 The Weekly Wages of 1000 workers are normally

/ distnbuted around a mean of Rs 700 and wit™ 3 standard

deviaton of Rs 50 Estimate the number of workers whose

weekly wages will be

a) betweenRs 700 and Rs 720 and

b) betweenRs 690 andRs 720

(5 x 2 = 10 weightage)

PartD
Answer any two questions.
Each question cames a weighiage of 4.

29 What i1s hypothesis testing? Enumerate the steps

(3 Derine Probabiity. -\ testmg of mypothess
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30.Following Table gives the result of the SSLC Examination ‘
held in 2008 : ‘

Age of Candidates: 21 20 19 18 17 16 15 14 13
% Failure : 55 47 49 39 37 34 43 41 39

3V Three persons X, Y and Z are simultaneously shooting at -
a target. Probability of X hitting the targetis 1/2, Y hitting
the target is 1/4 and that of Z hitting is 2/3. Find the
probability (a) exactly one of them will hit the target and
(b) at least one of them will hit the target.

(2 x 4 = 8 weightage)
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